5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

BILL NO. S-17-04-11

SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONSTRUCTION CONTRACT - COLDWATER ROAD CONCRETE STREET REHABILITATION - RESOLUTION/W.O. #0062C - (\$4,165,069.00) between BROOKS CONSTRUCTION and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT - COLDWATER ROAD CONCRETE STREET REHABILITATION - RESOLUTION/W.O. #0062C - by and between BROOKS CONSTRUCTION and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for: project will involve the rehabilitation of Coldwater Rd from Coliseum Blvd to Washington Center Rd. The project will include rehabilitation of the existing concrete pavement and resurfacing with hot mix asphalt. The existing road section shall be turned into dual through travel lanes in each direction, a slotted center turn lane, new 5 foot sidewalk where needed, and approximately 6 foot park strips. New 6" inch curbing and ADA ramps shall be included where needed. New concrete approaches will be installed where needed. The storm sewer will be improved by installing turnouts into green space by creating bioswales with subsurface drainage, trees and filtering vegetation. There will be additional pavement markings and the traffic signals shall be modernized as noted;

2728

29

30

1	involving a total cost of FOUR MILLION ONE HUNDRED SIXTY-FIVE
2	THOUSAND SIXTY-NINE AND 00/100 DOLLARS - (\$4,165,069.00). A COPY
3	of said Contract is on file with the Office of the City Clerk and made available
4	for public inspection, according to law.
5	
6	SECTION 2. That this Ordinance shall be in full force and effect
7	from and after its passage and any and all necessary approval by the Mayor.
8	
9	
10	Council Member
11	
12	APPROVED AS TO FORM AND LEGALITY
13	
14	
15	Carol Helton, City Attorney
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	



Award

To:

Board of Works

From:

Mario A. Trevino

Director of Transportation Engineering Services

Subject:

Coldwater Road Concrete Street Rehabilitation

Resolution #: 0062C

W.O. #: 0062C

Transportation Engineering Services recommends contract be awarded to:

Brooks Const. Co

Award Amount: \$4,165,069.00

CITY OF FORT WAYNE

Date:

Robert Kennedy, Chair

Mike Avila, Wember

Kumar Menon, Member

Attest: Lyndsey L Richards

		le aa				best	bid column	1			
		Form 96 Non-Collusion				×					
		Bidder's Bond	nancial Statemen	1		x x]			
		Street Barricas EBE Declaration				x					
		E-Verify Affida Addendum No	. 1			×				1	
		Addendum No Addendum No	. 3			×		Ì		İ	
		Addendum No Contractors Q	. 4 ⊔a∏tication Certifi	cation		×		İ			
				TOTAL:	\$3,472,355,95	TOTAL:	\$4,165,069.00	TOTAL:	\$4,723,738,51	TOTAL:	\$5,729,215,10
						% over	19.95%	% over	36,04%	% ayer	65.00%
Bid '	Fabulation					% under	0.00%	% under	0.00%	% under	0,00%
proj: Bld	Coldwater Road Concrete Street Rehabilitatio	ก	RES. NO.: W.O. NO.;	0062C 0062C		BIDDER:	Brooks Const. Co	BIDDER:	E & B Paving, inc	BIDDER:	Primco, Inc
Date:	03/22/17	PLAN	UNIT	stimate UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNITCOST	AMOUNT	UNIT COST	AMOUNT
NO.		QTY		Est (\$)	Est (\$)	(\$)	(\$)	(\$)	(\$)	(\$)	(\$)
-	MOBILIZATION AND DEMOBILIZATION	1 1	LS	\$145,600.00	\$145,600.00	\$208,000,00	\$208,000.00	\$236,150.00	\$236,150.00	\$286,460,75	\$286,460 <u>.75</u>
-	MAINTAINING OF TRAFFIC	1	LS	\$58,000,00	\$58,000.00	\$512,421.13	\$512,421.13	\$350,000,00	\$350,000,00	\$772,362.00	\$772,362.00
	SUBGRADE EXCAVATION (UNDISTRIBUTED)	205	CYS	\$45.00	\$9,225.00	\$85.00	\$17,425.00	\$180,00	\$36,900.00	\$76.70	\$15,723.50
-	GEOGRID (UNDISTRIBUTED)	615	SYS	\$6.00	\$3,075,00	\$3,50	\$2,152.50	\$14.00	\$8,610.00	\$5,00	\$3,075.00
<u></u>	CONCRETE PAVEMENT REMOVAL	13536	SYS	\$12.00	\$162,456.00	\$18.50	\$250,453.00	\$28.00	\$379,064.00	\$45.00	\$609,210.00
-	CONCRETE REMOVAL	1065	SYS	\$10.00	\$10,650.00	\$13.50	\$14,377,50	\$15,12	\$16,102.80	\$31.00	\$33,015.00
-	HMA SURFACE, TYPE C, 9.5 mm	3231	TON	\$65.00	\$210,015.00	\$60,00	\$193,860.00	\$76.00	\$245,556.00	\$76,00	\$245,556.00
	HMA INTERMEDIATE, TYPE C, 12.5 mm	4009	TON	\$60,00	\$240,540.00	\$53.00	\$212,477.00	\$70.00	\$280,630,00	\$70.00	\$280,630,00
	HMA BASE, TYPE C, 25 mm	1329	TON	\$55.00	\$73,095.00	\$69.00	\$79,740.00	\$68,00	\$90,372.00	\$68.00	\$90,372.00
	HMA FOR PATCHING, TYPE C	1194	TON	\$85.00	\$101,490,00	\$70,00	\$83,580,00	\$185.00	\$220,690.00	\$235,27	\$280,912.38
	HMA FOR APPROACH, TYPE B	87	TON	\$65.00	\$5,655.00	\$100.00		\$150.00	\$13,050,00	\$150.00	\$13,050.00
12	TACK COAT	40	TON	\$300.00	\$12,000.00	\$100.00	\$4,000,00	\$500,00	\$20,000.00	\$500.00	\$20,000.00
13	CEMENT CONCRETE PAVEMENT, PLAIN, 7.5* CEMENT CONCRETE PAVEMENT, PLAIN, 7.6*, HIGH-	3727	SYS	\$65.00	\$242,255,00	\$47,00	\$175,169.00	\$82.45	\$307,291.15	\$99,00	\$368,973.00
14	EARLY STRENGTH (UNDISTRUBUTED)	60	SYS	\$85,00	\$5,100.00	\$58.00	\$3,480.00	\$110.00	\$6,600,00	\$95.00	\$5,700.00
15	CONCRETE PAVEMENT STITCHING (UNDISTRIBUTED)	300	EA	\$45.00	\$13,500.00	\$70.00	\$21,000,00	\$64,78	\$19,434.00	\$18.95	\$5,685,00
16	CONCRETE PAVEMENT FOR DRIVE, 8*	436	SYS	\$55.00	\$23,980.00	\$70,00	\$30,520.00	\$57.00	\$24,852.00	\$80,00	\$34,880,00
17	CONCRETE SIDEWALK, 4"	663	SYS	\$35,00	\$23,205.00	350.00	\$33,150.00	\$60.00	\$39,780.00	\$65,00	\$43,095,00
18	CONCRETE CURB RAMP, 6"	191	SYS	\$175.00	\$33,425.00	\$100.00	\$19,100.00	\$230,60	\$43,930.00	\$140.00	\$26,740_00
19	LIQUID ASPHALT SEALANT	9450	LFT	\$0.50	\$4,725.00	\$0.55	\$5,197,50	\$0.40	\$3,760.00	\$0.40	\$3,780,00
20	CONCRETE WINGWALK, 6"	30	sys	\$50.00	\$1,500,00	\$100.00	\$3,000.00	\$80.00	\$2,400,00	\$120,00	\$3,600,00
21	COMPATED AGGREGATE FOR BASE, No. 53	1764	TON	\$30,00	\$52,920.00	\$30.00	\$52,920.00	\$15,00	\$26,460.00	\$33.00	\$58,212,00
22	SUBBASE, 6°	1264	TON	\$30,00	\$37,920.00	\$30.00	\$37,920,00	\$53,36	\$67,447.04	\$33.00	\$41,712,00
23	BASE COARSE MATERIAL	126	TON	\$30.00	\$3,780,00	\$45.00	\$5,670.00	\$30.00	\$3,780.00	\$33,00	\$4,158.00
24	CONCRETE CENTER CURB TYPE "C" (MODIFIED)	194	SYS	\$85,00	\$12,610.00	\$270.00	\$52,380.00	\$200,00	\$38,800.00	\$250.00	\$48,500.00
	COMPOSITE PAVEMENT REINFORCEMENT FABRICS	5166	SYS	\$9.00	\$46,494.00	\$12.00	\$61,992.00	\$13.00	\$67,158.00	\$13.00	\$67,158,00
26	PCCP MILLING, 2.5 IN.	35422	SYS	\$5.00	\$177,110.00	\$4.00	\$141,688.00	\$9.00	\$318,798.00	\$9,00	\$318,798.00
27	PCCP MILLING, VARIABLE DEPTH (0.5"-1.5")	5481	SYS	\$2.00	\$10,962.00	\$3.50	\$19,183.50	\$9.00	\$49,329.00	\$9.00	\$49,329.00
	ASPHALT MILLING, VARIABLE DEPTH (0.5"-1.5")	362	sys	\$2.60	\$905.00	\$3.25	\$1,176.50	\$9.00	\$3,256.00	\$9.00	\$3,258.00
ì	ASPHALT MILLING, 1.5 *	83	SYS	\$2.00	\$166,00	\$6.00	\$498.00	\$9.00	\$747.00	\$9,00	\$747.00
	ASPHALT MILLING, 4"	2562	SYS	\$3,00	\$7,686.00	\$3.00	\$7,686.00	\$9.00	\$23,058,00	\$9.00	\$23,058.00
	CONCRETE CURB TYPE II-A	3958	LFT	\$16.00	\$63,328.00	\$26.00	\$102,908,00	\$20.00	\$79,160.00	\$20.00	\$79,160.00
	CONCRETE CURB TYPE II-A (MODIFIED)	5216	LFT	\$18,00	593,888.00	\$11.00	\$57,376.00	\$26.50	\$138,224.00	\$19,50	\$101,712.00
	CONCRETE CURB TYPE III	2209	LFT	\$20.00	\$44,180.00	\$14.00	\$30,926,00	\$25,00	\$55,225.00	\$25.10	\$55,445,90
	DETECTABLE WARNING, 2' X 5', CAST IN PLACE	32	EA	\$165.00	\$5,280,00	\$105,00	\$3,360.00	\$150.00	\$4,800.00	\$250.00	\$8,000,00
	CURB TURNOUT, CONCRETE	101	EA	\$75,00	\$7,575.00	\$300.00	\$30,360.60	\$255,00	\$25,755,00	\$500.00	\$50,600,00
	SODDING (NURSERY)	220	SYS	\$4.00	\$860.00	\$10.00	\$2,200.00	\$10.00	\$2,200.00	\$10.00	\$2,200,00
	CONSTRUCTION TYPE A	45	EA	\$255.00	\$11,475,00	\$229.25	\$10,316.25	\$229.25	\$10,316,25	\$229,25	\$10,316.25
	CONSTRUCTION SIGN TYPE B	18	EA	\$100.00	\$1,800.00	\$99.40	\$1,789.20	\$99.40	\$1,789.20	\$99.40	\$1,789.20
	BARRICADE TYPE III-B	204	LFT	\$20.00	\$4,080.00	\$21,80	\$4,447.20	\$21.80	\$4,447.20	\$21.80	\$4,447,20
	FLASHING ARROW BOARD	240	DAY	\$125,00	530,000.00	\$20.00	\$4,800.00	\$20.00	\$4,800.00	\$20,00	\$4,800.00
	2' x 2' INLET WITH 2' x 2' CURB AND GUTTER CASTING	2	EA	\$1,750.00	\$3,500.00	\$2,750.00	\$5,500.00	\$1,825,00	\$3,650.00	\$1,825.00	\$3,650.00
	2' x 3' INLET WITH 2' x 3' CURB AND GUTTER CASTING	11	EA	\$2,000.00	\$2,000.00	\$2,850.00	\$2,850.00	\$2,010.00	\$2,010.00	\$2,010.00	\$2,010,00
	CASTING, ADJUST TO GRADE	56	EA	\$275,00	\$15,400.00	\$500.00	\$28,000.00	\$275.00	\$15,400.00	\$450,00	\$25,200.00
	CASTING , FURNISH AND ADJUST TO GRADE, TYPE "A" CASTING , FURNISH AND ADJUST TO GRADE, 24"	1	EA	\$550.00	\$550.00	\$800.00	\$800,00	\$530.00	\$530.00	\$705.00	\$705,00
	SANITARY CASTING	. 1	EA	\$550.00	\$550,00	\$750,00	\$750.00	\$750.00	\$750.00	\$925.00	\$925.00
	48" STORM MANHOLE WITH 24" SOLID STORM CASTING	1	EA	\$2,700.00	\$2,700.00	\$3,250.00	\$3,250.00	\$2,150.00	\$2,150,00	\$2,150.00	\$2,150.00
	INLET REMOVAL	5	LFT	\$450.00	\$2,250.00	\$200,00	\$1,000.00	\$550.00	\$2,750.00	\$550.00	\$2,750,00
	12° STORM CONCRETE PIPE, CLASS III	36	LFT	\$35.00	\$1,330,00	\$95.00	\$3,610.00	\$80.55	\$3,060.90	\$80,55	\$3,060.90
	SPECIAL BACKFILL, No. 53/73 8-PHASE FULLY ACTUATED MENU DRIVEN CONTROLLER	24	TON	\$35.00	\$840.00	\$15.00	\$360.00	\$21,00	\$504.00	\$21.00	\$504.00
	W/P CABINET TRAFFIC SIGNAL HEAD, 3-SECTION, 12" RED, 12" AMBER,	3	EA EA	\$12,000.00	\$36,000.00	\$12,500.00	\$37,500.00	\$12,500.00	\$37,500.00	\$12,500.00	\$37,500,00
51	12" GREEN	25	EA	\$600,00	\$15,000.00	\$650.00	\$16,250.00	\$650.00	\$16,250,00	\$650,00	\$16,250.00

	Depter and the second of the second	. 1									,
52		S) 2	EA	\$600.00	\$1,200.00	\$650.0	\$1,300.00	\$650.00	\$1,300.00	\$650.00	\$1,300.00
63	TRAFFIC SIGNAL HEAD, 4 SECTION, 12" (LT. RED BARROW, LT. AMBER ARROW, LT. FLASHING AMBER	6	EA	\$750.00	\$4,500.00	\$705.0	\$4,230.00	\$705.00	\$4,230.00	\$705.00	\$4,230.00
	TRAFFIC SIGNAL HEAD REALIGN	6	EA	\$125,00				1	\$750,00	\$125,00	\$750,00
						I					
	PEDESTRIAN SIGNAL HEAD, COUNTDOWN, 18 "	40	EA	\$500.00		\$395.00	1	\$395.00	\$15,800.00	\$395.00	\$15,800.00
56	SPAN, CATENARY, AND TETHER	12	EA	\$2,200.00	\$26,400.60	\$2,500.00	\$30,000.00	\$2,500.00	\$30,000.00	\$2,500.00	\$39,000.00
67	PEDESTRIAN PUSH BUTTON	33	EA	\$250.00	\$8,250.00	\$225.00	\$7,425.00	\$225.00	\$7,425.00	\$225.00	\$7,425.00
58	DISCONNECT HANGER	12	EA_	\$325,00	\$3,900.00	\$225,00	\$2,700,00	\$225,00	\$2,700,00	\$225,00	\$2,700.00
59	SIGNAL POLE, PEDESTAL, 4 FT	15	EΑ	\$350.00	\$5,260.00	\$625.00	\$9,375,00	\$625.00	\$9,375.00	\$625.00	\$9,375.00
60	SIGNAL POLE, PEDESTAL, 12 FT	13	EA	\$900.00	\$11,700.00	\$745.00	\$9,685.00	\$745.00	\$9,685.00	\$745.00	\$9,685.00
61	SIGNAL STRAIN POLE STEEL 30 FT	8	EA	\$4,500,00		\$4,500,00		\$4,500.00	\$36,000,00	\$4,500,00	\$36,000.00
52	SIGNAL STRAIN POLE STEEL 36 FT	4	EA	\$5,000.00	\$20,000.00	\$5,250.00	\$21,000.00	\$5,250.00	\$21,000.00	\$5,250.00	\$21,000.00
63	SIGNAL POLE FOUNDATION, 36" X 144"	12	EA	\$2,750.00	\$33,000.00	\$2,500.00	\$30,000.00	\$2,500.00	\$30,000,00	\$2,500.00	\$30,000.00
64	SIGNAL PEDESTAL FOUNDATION, A	28	EA	\$750.00	\$21,000.00	\$725.00	\$20,360.00	\$725.00	\$20,300.00	\$725,00	\$20,300.00
65	HANDHOLE SIGNAL TYPE 1	25	EA	\$850,00	\$21,250.00	\$1,000,00	\$25,000.00	\$1,000.00	\$25,000,00	\$1,000.00	\$25,000,00
86	CONDUIT, STEEL, GALVANIZED, 2 IN.	2885	EA	\$14.00	\$40,390.00	\$18.00	\$51,930.00	\$18.00	\$51,930.00	\$18.00	\$51,930.00
	LOOP DETECTOR DELAY COUNTING AMPLIFIER 2										
	SAW CUT FOR ROADWAY LOOP DETECTOR AND	22	EA	\$350.00		\$300.00	1	\$300.00	\$6,600.00	\$300.00	\$6,600,00
68	SEALANT	3830	LFT	\$8.00	\$30,640,00	\$10.00	\$38,300,00	\$10,00	\$38,300,00	\$10,00	\$38,300,00
69	DETECTOR HOUSING	24	EA	\$425.00	\$10,200.00	\$725.00	\$17,400.00	\$725.00	\$17,400.00	\$725.00	\$17,400.00
70	SIGNAL CABLE, SERVICE, COPPER, 3C/8 GA	300	LFT	\$1.50	\$450.09	\$3.00	\$900.00	\$3.00	\$900.00	\$3.00	\$900.00
71	SIGNAL CABLE, ROADWAY LOOP, COPPER, 1C/14 GA	11610	LFT	\$0,50	\$6,966,00	\$0,50	\$5,805,00	\$0,50	\$5,805,00	\$0,50	\$5,805.00
	SIGNAL CABLE, COPPER, 2C/16 GA	5890	LFT	\$0.85	\$5,006.50	\$1.15		\$1.15	\$6,773.50	\$1.15	\$6,773.50
				l.							
		2440	LFT	\$1.50		\$1.30		\$1.30	\$3,172.00	\$1.30	\$3,172.00
74	SIGNAL CABLE, COPPER, 5C/14 GA	2180	LFT	\$1,60	\$3,488,00	\$2.00	\$4,360,00	\$2.00	\$4,360,00	\$2.00	\$4,360.00
75	SIGNAL CABLE, COPPER, 7C/14 GA	2450	LFT	\$1.85	\$4,532.50	\$2.15	\$5,267.50	\$2.15	\$5,267.50	\$2.15	\$5,267.50
76	SIGNAL CABLE, COPPER, 9C/14 GA	1070	LFT	\$2.05	\$2,193.50	\$3.00	\$3,210.00	\$3.00	\$3,210.00	\$3.00	\$3,210.00
77	SIGNAL SERVICE	3	EA	\$500,00	\$1,500,00	\$1,000,00	\$3,000,00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000,00
78	MISCELLANEOUS EQUIPMENT FOR TRAFFIC SIGNALS	1	LS	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
										i	
	LUMINAIRE MAST ARM 12 FT (part #MY12)	12	EA	\$1,000.00	\$12,000.00	\$1,200.00	\$14,400.90	\$1,200.00	\$14,400.00	\$1,200.00	\$14,400.00
80	LED LUMINAIRE	12	EA	\$500.00	\$8,000.00	\$515.00	\$6,180,00	\$515,00	\$6,180,00	\$515,00	\$6,180,00
81	WIRE 3C/6 IN TRAY CABLE AND BORE TUBE	3090	LFT	\$12.00	\$37,080.00	\$5,00	\$15,450.00	\$5.00	\$15,450,00	\$5.00	\$15,450.00
82	WIRE 30/6 IN 2" PVC SCHEDULE 80 CONDUIT	980	LFT	\$15.08	\$14,700.00	\$10.00	\$9,800.00	\$10.00	\$9,800.00	\$10.00	\$9,800.00
83	DELINEATOR POST WITH OBJECT MARKER, OM2-2V	9	EA	\$85.00	\$765,00	\$50.00	\$450,00	\$50,00	\$450.00	\$86.50	\$778.50
84	SHEET SIGN WITH LEGEND, 0.08 IN	131,5	SFT	\$16.00	\$2,104.00	\$11.00	\$1,446.50	\$11.00	\$1,446.50	\$11.00	\$1,446.50
85	SHEET SIGN WITH LEGEND, 0.10 IN	42	SFT	\$18.00	\$756.00	\$12.00	\$504.00	\$12.00	\$504.00	\$12.00	\$504.00
86	PERMANENT TUBULAR MARKER	37	EA	\$45,00	\$1,665.00	\$68.00	\$2,516,00	\$68,00	\$2,516.00	\$66,00	\$2,516,00
87	SIGN POST, U-CHANNEL	427	归	\$4.50	\$1,921.50	\$5,00	\$2,135.00	\$5,00	\$2,135.00	\$5.00	\$2,135.00
88	TEMPORARY PAVEMENT MARKING, 4 IN.	17805	LFT	\$0.25	\$4,451.25	\$0.35	\$6,231.75	\$0.19	\$3,382.95	\$0.19	\$3,362.95
89	TEMPORARY PAVEMENT MARKING, REMOVABLE, 4 IN.	20160	LFT	\$0.50	\$10,080.00	\$0.80	\$16,128.00	\$0.19	\$3,830.40	\$0.19	\$3,830.40
90	TEMPORARY TRANSVERSE PAVEMENT MARKING, STOP LINE, 24 IN.	375	LFT	\$1,25	\$468,75	\$3.95	\$1,481,25	\$3.95	\$1,481.25	\$3.95	\$1,481.25
	TEMPORARY PAVEMENT MESSAGE MARKING, LANE								1		
i	INDICATION ARROW	27	EA	\$45.00	\$1,215.00	\$72.50	\$1,957.50	\$72.50	\$1,957.50	\$72.50	\$1,957.50
92	LINE, EPOXY PAINT, BROKEN WHITE' 4"	2910	LFT	\$0.45	\$1,309,50	\$0.99	\$2,880.90	\$0.99	\$2,860.90	\$0.99	\$2,680,90
93	LINE, EPOXY PAINT, SOLID WHITE, 4"	4711	LFT	\$0.65	\$3,062.15	\$0.99	\$4,663.89	\$0.99	\$4,663,89	\$0.99	\$4,863.89
94	LINE, EPOXY PAINT, BROKEN YELLOW, 4*	1785	LFT	\$0.45	\$803.25	\$0.38	\$678.30	\$0.38	\$678.30	\$0.38	\$678.30
95	LINE, EPOXY PAINT, SOLID YELLOW, 4"	7847	LFT	\$0.65	\$5,100.55	\$0.99	\$7,768,53	\$0,99	\$7,768,53	\$0.99	\$7,768,53
	LINE, EPOXY PAINT, DOTTED WHITE, 4°	139	LFT	\$0.50	\$69.50	\$2.30	\$319.70	\$2.30	\$319.70	\$2.30	\$319.70
- 1	LINE, EPOXY PAINT, DOTTED YELLOW, 4*										
		121	LFT	\$0.50	\$60.50	\$2.30	\$278.30	\$2.30	\$278.30	\$2.30	\$278.30
98	TRANSVERSE MARKING, EPOXY PAINT, CROSSWALK, 24° PAVEMENT MESSAGE MARKING, EPOXY PAINT, LANE	3464	LFT	\$2,00	\$6,968.00	\$6,90	\$24,039.60	\$6.90	\$24,039,60	\$6,90	\$24,039.60
99	INDICATION ARROW TRANSVERSE MARKING, EPOXY PAINT, CROSSWALK,	29	EA	\$75.00	\$2,175.00	\$443.00	\$12,847.00	\$443.00	\$12,847.00	\$443.00	\$12,847.00
100	IRANSVERSE MARKING, EPOXY PAINT, CROSSWALK, LINE, 61	233	LFT	\$1.00	\$233,00	\$9.70	\$2,260,10	\$9,70	\$2,260.10	\$9.70	\$2,260.10
101	CENTER CURB PAINT, EPOXY PAINT, YELLOW	813	LFT	\$1.50	\$1,219.50	\$20.90	\$16,991.70	\$20.90	\$16,991,70	\$20.90	\$16,991.70
					\$23,250.00	\$1.65	\$7,672.50	\$1.65	\$7,672.50	\$1.65	\$7,672.50
		4650	RYR	SE UU I		\$ 1.00	Ψ1,012,00	91.00	91,012.00	\$1.00	Ψ1,012.00
102	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or	4650	SYS	\$5.00							
102 103	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal)	180	sys	\$108,00	\$19,440,00	\$104.00	\$18,720.00	\$104,00	\$18,720.00	\$104.00	\$18,720.00
102 103	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or					\$184.00 \$129.00	\$18,720.00 \$9,417.00	\$104.00 \$129.00	\$18,720.00 \$9,417.00	\$104.00 \$129.00	\$18,720.00 \$9,417.00
102 103 104	SC160 EROSION CONTROL BLANKET (61 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO1 57 13-C) SILT FENCE (01 57 13-A)	180	sys	\$108,00	\$19,440,00					- ""	
102 103 104 105	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO1 57 13-C)	180 73	SYS EA	\$108,00 \$100,00	\$19,440.00 \$7,300.00	\$129.00	\$9,417.00	\$129,00	\$9,417.00	\$129.00	\$9,417.00
102 103 104 105	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO1 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING	180 73 468	SYS EA LFT	\$108.00 \$100.00 \$3.00	\$19,440.00 \$7,300.00 \$1,404.00	\$129.00 \$2.00	\$9,417.00 \$936.00	\$129.00 \$2.00	\$9,417.00 \$936.00	\$129.00 \$2.00	\$9,417.00 \$936.00
102 103 104 105 106 107	SC160 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGOI 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING ITEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL (01 57 13-B)	180 73 458 1 3100	SYS EA LFT LS SYS	\$108.00 \$100.00 \$3.00 \$10,000,00 \$12.00	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00	\$129.00 \$2.00 \$4,500.00 \$8.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00	\$129.00 \$2.00 \$4,500.00 \$8.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00	\$129.00 \$2.00 \$4,500.00 \$8.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00
102 103 104 105 106 107	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO! 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING ITEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL. (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G)	180 73 468 1 3100	SYS EA LFT LS SYS	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.25	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00 \$3,645,00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,600.00 \$1,665.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00
102 103 104 105 106 107	SC150 EROSION CONTROL BLANKET (61 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO! 57 13-C) SILT FENCE (61 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING TEMPORARY SEEDING (61 57 13-D) IMPERMEABLE BARRIER, 40 MIL. (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G) 6° PERFORATED PIPE UNDERDRAIN (33 46 16.19-A)	180 73 458 1 3100 180 2477	SYS EA LFT LS SYS SYS LFT	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.25 \$6.00	\$19,440,00 \$7,300.00 \$1,404.00 \$10,000.00 \$37,200.00 \$3,645.00 \$14,852.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$39,632.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20	\$9,417.00 \$935.00 \$4,500.00 \$24,800.00 \$1,665.00 \$40,127.40	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$40,127.40
102 103 104 105 106 107	SC150 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO! 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING ITEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL. (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G)	180 73 468 1 3100	SYS EA LFT LS SYS	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.25	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00 \$3,645,00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,600.00 \$1,665.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00
102 103 104 105 106 107 108 109	SC150 EROSION CONTROL BLANKET (61 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO! 57 13-C) SILT FENCE (61 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING TEMPORARY SEEDING (61 57 13-D) IMPERMEABLE BARRIER, 40 MIL. (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G) 6° PERFORATED PIPE UNDERDRAIN (33 46 16.19-A)	180 73 458 1 3100 180 2477	SYS EA LFT LS SYS SYS LFT	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.25 \$6.00	\$19,440,00 \$7,300.00 \$1,404.00 \$10,000.00 \$37,200.00 \$3,645.00 \$14,852.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$39,632.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20	\$9,417.00 \$935.00 \$4,500.00 \$24,800.00 \$1,665.00 \$40,127.40	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,685.00 \$40,127.40
102 103 104 105 106 107 108 109 110	SC160 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGGI 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING /TEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G) 6° PERFORATED PIPE UNDERDRAIN (33 46 16.19-A) 8° NON-PERFORATED PIPE UNDERDRAIN (33 46 16.19-B)	180 73 468 1 3100 180 2477 764	SYS EA LFT LS SYS SYS LFT LFT	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.26 \$6.00 \$10.00	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00 \$3,645,00 \$14,852,00 \$7,640,00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.00	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$39,632.00 \$12,224.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20 \$27.20	\$9,417.00 \$935.00 \$4,500.00 \$24,800.00 \$1,665.00 \$40,127.40 \$20,780.80	\$129.00 \$2.00 \$4,500.00 \$6.00 \$9.25 \$16,20 \$27.20	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$40,127.40 \$20,780.80
102 103 104 105 106 107 108 109 110 111	SC160 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approvad equal) INLET SEDIMENT PROTECTION BAGG1 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MANTENANCE /LOGGING ITEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G) 6° PERFORATED PIPE UNDERDRAIN (33 46 16.19-A) 6° NON-PERFORATED PIPE UNDERDRAIN (33 46 16.19-C) 8° NON-PERFORATED PIPE UNDERDRAIN (33 46 16.19-C) 8° NON-PERFORATED PIPE UNDERDRAIN (33 46 16.19-D)	180 73 458 1 3100 180 2477 764 672 342	SYS EA LFT LS SYS SYS LFT LFT LFT LFT	\$108,00 \$100,00 \$3,00 \$10,000,00 \$12,00 \$20,25 \$6,00 \$10,00 \$10,00 \$10,00	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00 \$3,645,00 \$14,862,00 \$7,640,00 \$5,376,00 \$4,104,00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.00 \$19.50 \$19.50	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$39,632.00 \$12,224.00 \$13,104.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20 \$27.20 \$17.35 \$28.35	\$9.417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,865.00 \$40,127.40 \$20,760.80 \$11,659.20	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20 \$27.20 \$17.35 \$28.35	\$9,417.00 \$936.00 \$4,600.00 \$24,800.00 \$1,655.00 \$40,127.40 \$20,780.80 \$11,659.20 \$9,695.70
102 103 104 105 106 107 108 109 110 111 112 113	SC160 EROSION CONTROL BLANKET (01 57 13-E) EROSION CONTROL MAT (SCOURSTOP, FLEXAMAT or approved equal) INLET SEDIMENT PROTECTION BAGO1 57 13-C) SILT FENCE (01 57 13-A) EROSION CONTROL MAINTENANCE /LOGGING /TEMPORARY SEEDING (01 57 13-D) IMPERMEABLE BARRIER, 40 MIL (01 57 13-B) TURF REINFORCEMENT MAT (01 57 13-G) 6* PERFORATED PIPE UNDERDRAIN (33 46 16.19-A) 6* NON-PERFORATED PIPE UNDERDRAIN (33 46 16.19-B) 8* PERFORATED PIPE UNDERDRAIN (33 46 16.19-C)	180 73 468 1 3100 180 2477 764	SYS EA UFT LS SYS SYS LFT LFT LFT	\$108.00 \$100.00 \$3.00 \$10,000.00 \$12.00 \$20.25 \$6.00 \$10.00	\$19,440,00 \$7,300,00 \$1,404,00 \$10,000,00 \$37,200,00 \$3,645,00 \$14,852,00 \$7,640,00 \$5,376,00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.00 \$19.50	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,665.00 \$39,632.00 \$12,224.00 \$13,104.00	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20 \$27.20 \$17.35	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,865.00 \$40,127.40 \$20,780.80 \$11,659.20	\$129.00 \$2.00 \$4,500.00 \$8.00 \$9.25 \$16.20 \$27.20	\$9,417.00 \$936.00 \$4,500.00 \$24,800.00 \$1,655.00 \$40,127.40 \$20,780.80 \$11,559.20

_							7				
118	GRADING (31 2213-A)	11	LS	\$30,000,00	\$30,000,00	\$75,000.00	\$75,000.00	\$26,016.00	\$26,016.00	\$26,016.00	\$26,016.00
116	GEOTEXTILE (31 05 19-A)	4444	sys	\$5.00	\$22,220.00	\$1.50	\$6,666.00	\$2.20	\$9,776.80	\$2.20	\$9,776.80
117	EXCAVATION (31 22 13-B)	3030	CYS	\$28.50	\$64,840.00	\$33.00	\$99,990.00	\$17.50	\$53,025,00	\$17,50	\$53,025.00
118	DRAINAGE STRUCTURE MODIFICATIONS (33 44 13-A)	1	Ls	\$22,000.00	\$22,000,00	\$25,000.00	\$25,000,00	\$11,000,00	\$11,000.00	\$11,000.00	\$11,000.00
118	CLEANOUT (33 46 16.19-E)	41	EA	\$200,00	\$8,200.00	\$350,00	\$14,350.00	\$365.00	\$14,965.00	\$365.00	\$14,965.00
120	IMPORTED TOPSOIL (32 92 00-B)	1036	cys	\$35.00	\$36,260.00	\$43.00	\$44,548.00	\$43.00	\$44,648.00.	\$43.00	\$44,548.00
121	LAWNS AND GRASSES (32 92 00-A)	9334	SYS	\$1.00	\$9,334.00	\$0.80	\$7,467.20	\$0.80	\$7,467.20	\$0.80	\$7,467.20
122	JUDD VIBURNUM - 5 GAL, CONTAINER (32 93 00-A)	158	EA	\$112.00	\$17,696.00	\$58,00	\$9,164.00	\$58,00	\$9,164.00	\$58,00	\$9,164.00
123	KOREAN LILAC - 5 GAL, CONTAINER (32 93 00-B)	211	EA	\$102,00	\$21,522.00	\$58.00	\$12,238.00	\$58.00	\$12,238.00	\$58.00	\$12,238.00
124	SARGENT JUNIPER - 5AL CONTAINER (32 93 80-C)	82	EA	\$90.00	\$7,380.00	\$53.00	\$4,346.00	\$53.00	\$4,346,00	\$53,00	\$4,346.00
125	GRO-LOW SUMAC - 5 GAL, CONTAINER (32 93 00D)	802	EA	\$54.00	\$43,308.00	\$43,00	\$34,486,00	\$43,00	\$34,486.00	\$43.00	\$34,486.00
126	PLANTING SOIL (32 93 00-F)	1532	CYS	\$28,50	\$43,662,00	\$85.00	\$130,220.00	\$55.00	\$84,260.00	\$55.00	\$84,260.00
127	PRAIRIE DROPSEED - 1 GAL CONTAINER (3293 00-E)	1289	EA	\$45.00	\$58,005.00	\$18.00	\$23,202.00	\$18.00	\$23,202.00	\$18.00	\$23,202.00
128	UTILITY ADJUSTMENTS (AS NEEDED)	1	LS	\$5,000.00	\$5,090.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000,00	\$5,000,00	\$5,000.00
129	WORK ALLOWANCE	1	LS	\$150,000.00	\$150,000,00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
130	TRAFFIC SIGNAL AND LIGHTING EQUIPMENT REMOVAL	1	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
131	CONCRETE PAVEMENT FOR DRIVE, 8*, HIGH-EARLY STRENGTH	210	sys	\$65.00	\$13,650.00	\$85.00	\$17,850.00	\$66.00	\$13,860,00	\$85,00	\$17,850.00
132	SIGNAL CABLE, COPPER, 12C/14 GA	3580	ĿFT	\$2.50	\$8,950,00	\$2,45	\$8,771.00	\$2,45	\$8,771.00	\$2.46	\$8,771.00
133	CONSTRUCTION ENGINEERING	1	Ls	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$37,515.00	\$37,515.00	\$217,048.55	\$217,048.55
134	CONCRETE CURB REMOVAL	2100	LFT	\$8.00	\$16,800.00	\$8.00	\$16,800.00	\$8.00	\$16,800.00	\$11.00	\$23,100.00
SL1	EXISTING LUMINAIRE, REMOVE AND REPLACE, 35' EMH	57	EΑ	\$625.00	\$35,625,00	\$625,00	\$35,625,00	\$625,00	\$35,625.00	\$625.00	\$35,625.00
SL2	EXISTING LUMINAIRE, REMOVE AND REPLACE, 25' EMH	1	EA	\$600,00	\$600,00	\$600.00	\$600.00	\$600.00	\$600,00	\$600.00	\$600.00
SL3	WATERPROOF CONNECTIONS, IN HAND HOLES	18	EA	\$70.00	\$1,260.00	\$50.00	\$900.00	\$50.00	\$900.00	\$50,00	\$900,00
SL4	SERVICE UNITS, LUMINAIRE	7	EA	\$400,00	\$2,800,00	\$527.00	\$3,689,00	\$527.00	\$3,589.00	\$527.00	\$3,689.00
SL5	HANDHOLE, INDOT STYLE, IN PLACE	4	EA	\$1,200.00	\$4,800.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00
SL6	3C/6 THWN IN NEW OR EXISTING CONDUIT	750	UFT.	\$6.00	\$4,500.00	\$3.00	\$2,250.00	\$3.00	\$2,250.00	\$3,00	\$2,250,00
	1.5" HDPE BORE TUBE, OR 1.5" SCH. 80 PVC WITH 3C/6 THWN	720	LFT	\$13,00	\$9,360.00	\$5,00	\$3,800,00	\$5,00	\$3,600.00	\$5.00	\$3,600.00
SLB	EXISTING CONCRETE LIGHT BASE, REMOVE COMPLETELY AND BACKFILL	2	EA	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
SL9	EXISTING STREET LIGHT POLE/ASSEMBLY, REMOVE AND DELIVER TO SLO	2	EΑ	\$700.00	\$1,490.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000,00
	WIRE, #12, THWN, IN PLACE	1512	LFT	\$2.00	\$3,024.00	\$1.00	\$1,512.00	\$1.00	\$1,512,00	\$1.00	\$1,512.00
	EXISTING CONCRETE SIGNAL BASE, REMOVE 26" DEEP AND BACKFILL	12	EA	\$1,000,00	\$12,000.00	\$1,500.00	\$18,000.00	\$1,250.00	\$15,000.00	\$1,250,00	\$15,000.00
						41,444,00	0.0,000,000	A 110001001	4.5,555.661	V. 200.00	410,000.00

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the **Coldwater Road Concrete Street Rehabilitation** award.

TATES A TAXA	
RFPs & RID	

Bid/RFP#	0062C
Awarded To	Brooks Construction
Amount	\$4,165,069.00
Conflict of interest on file?	X Yes □ No n/a
Number of Registrants	11
Number of Bidders	3
Attachments	BID TAB ANALYSIS SHEET AND AWARD SHEET

EXTENSIONS

Date Last Bid Out	N/A
# Extensions Granted	N/A
To Date	

SPECIAL PROCUREMENT

Contract #/ID (State, Federal, PiggybackAuthority)	
Sole Source/	
Compatibility Justification	

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□ No	If no, explain below	
If not lowest, explain	N/A			

COUNCIL DIGEST SHEET

COST COMPARISON	1
Increase/decrease amou from prior year For annual purchas (if available	e
DESCRIPTION OF P	
Identify need for project of	É
describe project; attac	h SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
supporting documents a	S
necessar)	<u>, </u>
REQUEST FOR PRICE Provide justification is prior approval is being requested.	y N/A
	<u> </u>
FUNDING SOURCE	
FUNDING SOURCE Account Information.	CEDIT
	CEDIT
	CEDIT
	CEDIT
	CEDIT

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL <u>Coldwater Road Concrete Street Rehabilitation</u>

Action Requested:

Transportation Engineering Services is requesting approval of an award to Brooks Construction in the amount of \$4,165,069.00 pursuant to Board of Works resolution 0062C.

Note: Brooks Construction was the lowest most responsive bidder among 3 bidders.

Description and Scope of Work:

This project will involve the rehabilitation of Coldwater Rd from Coliseum Blvd to Washington Center Rd. The project will include rehabilitation of the existing concrete pavement and resurfacing with hot mix asphalt. The existing road section shall be turned into dual through travel lanes in each direction, a slotted center turn lane, new 5 foot sidewalk where needed, and approximately 6 foot park strips. New 6" inch curbing and ADA ramps shall be included where needed. New concrete approaches will be installed where needed. The storm sewer will be improved by installing turnouts into green space by creating bioswales with subsurface drainage, trees and filtering vegetation. There will be additional pavement markings and the traffic signals shall be modernized as noted.